Answers to Ch 8 Partner Up and Deal
1. There are only two outcomes, All trials are independent, The probability of success is the same for each trial, There are a set number of trials.

2.  

	X
	0
	1
	2
	3
	4

	P(X)
	.48
	.39
	.12
	.02
	.0007


3.  19

4. .209

5. .7259

6. .33696

7. 1.212

8. All should be skewed right.  Each bar will always decrease by a percentage of the first bar, how much it decreases depends on the p.

9. Symmetric, Mound shape, fairly normal.  As p increases, the shape skews more to the left and as p decreases, the shape skews more to the right.

10. No.  Probability of success is not the same for all trials.

11. .642

12. 4.8

13. .7087

14. .9967

15. There are only two outcomes, All trials are independent, The probability of success is the same for each trial, The variable of interest is when the first success will occur

16. X= 1 and X= 2 are equally likely
